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) a. FALSE
© b. TRUE . 4

The correct answer is: TRUE
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© a. TRUE v
' b. FALSE
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) a. FALSE

© b. TRUE v

The correct answer is: TRUE
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o a. TRUE v
) b. FALSE

The correct answer is: TRUE
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> a. FALSE

© b. TRUE v

The correct answer is: TRUE
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1 a. FALSE
o b. TRUE v

The correct answer is: TRUE
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. a. TRUE
© b. FALSE v

The correct answer is: FALSE
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a. TRUE
© b. FALSE o

The correct answer is: FALSE
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a. TRUE
o b. FALSE v

The correct answer is: FALSE
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© a. TRUE v
o b. FALSE

The correct answer is: TRUE
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© a. FALSE v
© b. TRUE

The correct answer is: FALSE
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a. TRUE
o b. FALSE v

The correct answer is: FALSE
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o a. FALSE v
b, TRUE

The correct answer is: FALSE
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O a. TRUE x
O b. FALSE

The correct answer is: FALSE
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Mark 1.00 out of 1.00

V" Flag question

Lol il | Lasall Cilaal Syl oy oyl il e oLad,
© a. FALSE v

© b. TRUE

The correct answer is: FALSE
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. a. FALSE
o b. TRUE v

The correct answer is: TRUE
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© a. TRUE v
b. FALSE

The correct answer is; TRUE
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a. TRUE
o b. FALSE v

The correct answer is: FALSE

Question 20
Correct
Mark 1.00 out of 1.00

T~ Flag question

Sy adlall o slaall dllnss S o8 el
O ULl gd V0 ops s L sl 85l1 ilalaasil

© a TRUE v
b. FALSE

The correct answer is: TRUE
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© a. FALSE v
O b. TRUE

The correct answer is: FALSE
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~ a. FALSE
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The correct answer is: TRUE
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© a. TRUE v
' b. FALSE

The correct answer is: TRUE
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The correct answer is: FALSE
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(1) a. FALSE
© b. TRUE v

The correct answer is;: TRUE
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© a. TRUE v
© b. FALSE

The correct answer is: TRUE
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© a. FALSE v
O b. TRUE

The correct answer is: FALSE



(. 74% @ 2 5:25 = JAWWAL i,
& itc.birzeit.edu

= aa

ol il Luaill = lGuall pal e Al pias,

> a. FALSE
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The correct answer is: TRUE
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~» a. FALSE
© b. TRUE v

The correct answer is: TRUE
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© a. TRUE 4
@ b. FALSE

The correct answer is: TRUE
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. a. FALSE
© b. TRUE x

The correct answer is: FALSE



